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public long fib(int n)

{

if(n == 0) return OL;

if(n == 1) return 1L;

return fib(n - 1) + fib(n - 2);
}
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public long fib(int n)

{

if(n == 0) return OL;

if(n == 1) return 1L;

return fib(n - 1) + fib(n - 2);
}
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public long fib(int n)

{

if(n == 0) return OL;

if(n == 1) return 1L;

return fib(n - 1) + fib(n - 2);
}
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public long fib(int n)

{
if(n == 0) return OL;
if(n == 1) return 1L;
return fib(n - 1) + fib(n -
}
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fib(4)

Top

public long fib(int n)

{

fib(4)

if(n == 0) return OL;
if(n == 1) return 1L;

return fib(n - 1) + fib(n
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public long fib(int n)

{

fib(4)

if(n == 0) return OL;
if(n == 1) return 1L;

return fib(n - 1) + fib(n
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public long fib(int n)

{

if(n == 0) return OL;

if(n == 1) return 1L;

return fib(n - 1) + fib(n - 2);
}

fib(4) =1 +0+1+1+0=3

LIFO: Last In, First Out
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